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Paper 1, Section II
22F Linear Analysis

(a) State the open mapping theorem and the closed graph theorem, and prove that
the former implies the latter.

(b) Let V be a Banach space. Give the definition of the dual space V*, and prove
that V* is a Banach space.

(c) Let V be a Banach space over the real field, and let T : V — V* v +— T, be a
linear map between these two Banach spaces that satisfies T, (v) > 0 for all v € V. Prove
that T is continuous.

Paper 2, Section 11

22F Linear Analysis
(a) Let (V.|| - ||) be a normed vector space over R, and v, w € V. Define

1
stei={zev o = ol = Is =l = 3l - ul
and then inductively, for n > 2,

Sy = {z €Sy, Vze S, |lz— 2| < dlam }

with the definition diam(S) := sup, ;¢ ||z — Z||. Prove that N,>155" = {*%

(b) Let (V, ]| - [lv') and (V, || - l;7) be normed vector spaces over R, and v : V — 1%
an isometry, i.e. a map with the property that |[u(v) — u(w)| = [[v — wl|ly. Using part
(a), prove that u(*5%) = M for all v,w € V.

(¢c) Assume furthermore that the isometry u : V — V satisfies u(0) = 0. Prove that
u is linear.

Part II, Paper 1
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Paper 3, Section II
21F Linear Analysis

Recall that a topological space X is called normal if for any pair of non-empty
disjoint closed subsets A, B C X, there is a pair of disjoint open subsets Uy,Us C X so
that A C U; and B C Us,. Also recall that the Urysohn lemma states that in a normal
topological space X, for any pair of non-empty disjoint closed subsets A, B C X, there is
an f: X — [0, 1] continuous so that f =0 on A and f =1 on B.

(a) State and prove the Tietze extension theorem. [You may use the Urysohn
lemma.

(b) Consider a normal topological space X, and A C X a non-empty closed subset
that can be realised as a countable intersection of open sets. Show that there exists
f: X —[0,1] continuous so that f vanishes on A and on A only.

(c) Consider a normal topological space X, and A, B C X a pair of non-empty
disjoint closed subsets that can both be realised as countable intersections of open sets.
Show that there exists f : X — [0, 1] continuous so that f vanishes on A and on A only,
and is equal to 1 on B and on B only.

Paper 4, Section 11
22F Linear Analysis
Below, H denotes a Hilbert space over C.

(a) Consider a sequence (z,) in H with the property that there exists an z € H
such that for any y € H, (x,,y) converges to (z,y) in C. Prove that the sequence (z,) is
bounded. [The uniform boundedness principle may be used without proof, provided it is
properly stated.]

(b) With (z,) and = as above, prove that there exists another sequence (Zx) in H
such that ||Zx — x|z — 0 and such that each Zj, is a convex combination of terms in (x,).

(c) Deduce that if C C H is closed and convex, and (z,) is a sequence in C' as
in part (a), i.e. with the property that there exists x € H such that for any y € H,
(xn,y) — (z,y), then in fact z € C.

(d) Is the statement in part (c) still true when C'is closed but not necessarily convex?
[You must either provide a proof if true or a detailed counterexample if untrue.]

Part 11, Paper 1 [TURN OVER]



2022

B UNIVERSITY OF
¥ CAMBRIDGE 54

Paper 1, Section II
22G Linear Analysis

Let £>° denote the space of bounded real sequences and let ¢' denote the space of
summable real sequences. Suppose that ¢ : ¢*° — R is linear and continuous, that ¢
is non-negative on non-negative sequences, that ¢((x,)n>1) = ©((Tn+1)n>1), and that ¢
maps the constant sequence equal to one to one.

(a) Prove that liminf,, oo Zn < @((zn)n>1) < limsup,,_, o T, for all (x,),>1 € £°°.
(b) Is there (yn)n>1 € £' so that ©((zn)n>1) = .51 TnYn for all (z,)n>1 € £°7

(c) Give an example of (x,)n>1 € £°° that does not converge but for which all ¢
defined as above give the same value.

l‘ $ e x
(d) Let y € R. Assume (x,)p,>1 € £ satisfies nid T T2 0 H Ingp — y as

p

p — oo uniformly in n > 1. Prove that ¢((z)n>1) = .

Paper 2, Section II
22G Linear Analysis

(a) Given a complex Banach space (V, || - ||), prove that the space of bounded linear
maps (B(V,V),||| - |||) endowed with the norm
TNl = sup [T
veV, ||lv||=1

is a Banach space.

(b) Assume (V] - ||) is a complex Hilbert space. State the definitions of a compact
operator T : V — V and of a Hilbertian basis. Suppose T' € B(V, V') and V has a Hilbertian
basis (e,)n>1 such that T(e,) = Ape, for complex numbers \,, n > 1. Prove that T is
compact if and only if A, — 0.

(c) Given a complex Hilbert space (V|| - ||) and (e,)n>1 a Hilbertian basis of V,
consider H(V, V), the set of linear operators T' such that >~ [|Ten | < 4+00. Prove that

operators in H(V, V) are bounded and compact, and that (H(V,V),||| - |||«) with
1/2
T = (Z HTenH2>
n=1
is a Hilbert space. Are ||| - ||| and ||| - |||+ equivalent norms on H(V,V)?

Paper 3, Section II
21G Linear Analysis

(a) Prove that any metric space (X, d) is normal for the induced topology.
(b) State the Urysohn lemma and the Tietze extension theorem.

(c) Prove that a metric space (X, d) is compact if and only if all continuous functions
from X to R are bounded.

Part II, Paper 1
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Paper 4, Section II
22G Linear Analysis

(a) Define what it means for a sequence of functions f, : R — R to be equi-
continuous on [0, 1]. State the Arzela—Ascoli theorem.

(b) Given a continuous function ¢ : R — R, we can inductively define functions
fn:R—=Rforn>0by foii(t) = fg ©(fn(s))ds, and fo(t) = 0 for all ¢ € R. Show that
there exists 77 > 0 so that the sequence (f,)n>1 is equi-bounded and equi-continuous on
[0, T1].

(c) Deduce the existence of T, € (0,73] and a continuously differentiable function
f :[0,T5] — R such that f(0) = 0 and f'(t) = ¢(f(t)) on [0,T]. [Hint: Prove that if
Ty € (0,T1] is small enough, Ry (t) = fns1(t) — fu(t) = 0 uniformly on [0, Ts).]

Part 11, Paper 1 [TURN OVER]
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Paper 1, Section II
22H Linear Analysis

Let H be a separable Hilbert space and {e;} be a Hilbertian (orthonormal) basis of
H. Given a sequence (x,,) of elements of H and z~, € H, we say that z, weakly converges
t0 Too, denoted x, — ZTwo, if Vh € H, limy, o0 (@, h) = (Too, h).

(a) Given a sequence (x,,) of elements of H, prove that the following two statements
are equivalent:

(i) 3z € H such that z,, = 2oo;

(ii) the sequence (x,) is bounded in H and Vi > 1, the sequence ({z,,e;)) is
convergent.

(b) Let (x,) be a bounded sequence of elements of H. Show that there exists
Too € H and a subsequence (74(,)) such that z4,) — oo in H.

(c) Let (zy,) be a sequence of elements of H and x., € H be such that z, — z.
Show that the following three statements are equivalent:

(i) limp—eo || — Too|| = 0;
(i) limy—seo [[Znl] = [|7ooll;

(ili) Ve >0, 3I(e) such that Vn > 1, 3 o (o [{2n, ei)]? <e.

Paper 2, Section II
22H Linear Analysis

(a) Let V' be a real normed vector space. Show that any proper subspace of V has
empty interior.

Assuming V to be infinite-dimensional and complete, prove that any algebraic basis
of V is uncountable. [The Baire category theorem can be used if stated properly.] Deduce
that the vector space of polynomials with real coefficients cannot be equipped with a
complete norm, i.e. a norm that makes it complete.

(b) Suppose that || - || and || - ||2 are norms on a vector space V such that (V|- 1)
and (V, ||-||2) are both complete. Prove that if there exists C; > 0 such that ||z||2 < C1ljz|]1
for all x € V, then there exists Cy > 0 such that [|z||; < Ca||z||2 for all z € V. Is this still
true without the assumption that (V.| - ||1) and (V,| - ||2) are both complete? Justify your
answer.

(c) Let V be a real normed vector space (not necessarily complete) and V* be the
set of linear continuous forms f : V — R. Let (x,),>1 be a sequence in V such that
Y ons1 [f(zn)] < oo for all f € V*. Prove that

sup Z |f(xn)| < o0

A=<t =7

Part II, 2021 List of Questions [TURN OVER]
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Paper 3, Section II
21H Linear Analysis
(a) State the Arzela—Ascoli theorem, including the definition of equicontinuity.

(b) Consider a sequence (f,,) of continuous real-valued functions on R such that for
all x € R, ( fn(x)) is bounded and the sequence is equicontinuous at z. Prove that there
exists f € C(R) and a subsequence (f,(,)) such that f_y — f uniformly on any closed
bounded interval.

(c) Let K be a Hausdorff compact topological space, and C'(K) the real-valued
continuous functions on K. Let L C C'(K) be a compact subset of C(K). Prove that the
collection of functions K is equicontinuous.

(d) We say that a Hausdorff topological space X is locally compact if every point
has a compact neighbourhood. Let X be such a space, K C X compact and U C X
open such that K C U. Prove that there exists f : X — R continuous with compact
support contained in U and equal to 1 on K. [Hint: Construct an open set V' such that
KcV cV cU andV is compact, and use Urysohn’s lemma to construct a function in
V and then extend it by zero.]

Paper 4, Section II
22H Linear Analysis

(a) Let (Hy,(:,*)1), (Ha,({-,")2) be two Hilbert spaces, and T : H; — Hjy be
a bounded linear operator. Show that there exists a unique bounded linear operator
T* : Hy — H; such that

<T231,5132>2 = <.’L’1,T*1‘2>1, Va:l S H1,$2 S H2 .

(b) Let H be a separable Hilbert space. We say that a sequence (e;) is a frame of
H if there exists A, B > 0 such that

Vo e H, Alz)> <D [z e < Bllz|.

i>1
State briefly why such a frame exists. From now on, let (e;) be a frame of H. Show that
Span{e;} is dense in H.
(¢) Show that the linear map U : H — % given by U(z) = ((z, ei))i>1 is bounded
and compute its adjoint U*.

(d) Assume now that (e;) is a Hilbertian (orthonormal) basis of H and let a € H.
Show that the Hilbert cube C, = {z € H such that Vi > 1, [(z,e;)| < [(a,€;)]} is a
compact subset of H.

Part 11, 2021 List of Questions
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Paper 1, Section II
221 Linear Analysis

(a) Define the dual space X* of a (real) normed space (X, ||-||). Define what it means
for two normed spaces to be isometrically isomorphic. Prove that (I1)* is isometrically
isomorphic to Iy

(b) Let p € (1,00). [In this question, you may use without proof the fact that (,)*
is isometrically isomorphic to I, where 1% + % =1]

(i) Show that if {¢y, }o°_; is a countable dense subset of (I,)*, then the function

= 6z =)
)= 2 T )

n)\1 00

defines a metric on the closed unit ball B C [,,. Show further that for a sequence {a ol

of elements (™ € B, we have
¢z™) = o(x) Voel) &  da™ z) =0

Deduce that (B, d) is a compact metric space.

(ii) Give an example to show that for a sequence {z(M}> | of elements z(™ € B
and z € B,

o) ox) Voel) A |l -], o

Paper 2, Section II

221 Linear Analysis
(a) State and prove the Baire Category theorem.

Let p > 1. Apply the Baire Category theorem to show that U1<q<p lg #l,. Give an
explicit element of I, \ U<, lg-

(b) Use the Baire Category theorem to prove that C([0, 1]) contains a function which
is nowhere differentiable.

(c) Let (X,]|| - ||) be a real Banach space. Verify that the map sending = to the
function e, : ¢ — ¢(x) is a continuous linear map of X into (X*)* where X* denotes the
dual space of (X, ||-||). Taking for granted the fact that this map is an isometry regardless

of the norm on X, prove that if || - ||’ is another norm on the vector space X which is not
equivalent to || - ||, then there is a linear function ¢ : X — R which is continuous with
respect to one of the two norms || - ||, || - || and not continuous with respect to the other.

Part 11, 2020 List of Questions
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Paper 3, Section II

211 Linear Analysis
Let H be a separable complex Hilbert space.

(a) For an operator T : H — H, define the spectrum and point spectrum. Define
what it means for T" to be: (i) a compact operator; (ii) a self-adjoint operator and (iii) a
finite rank operator.

(b) Suppose T': H — H is compact. Prove that given any 6 > 0, there exists a
finite-dimensional subspace E C H such that ||T'(e,) — PgT(e,)|| < 0 for each n, where
{e1,e2,e3,...} is an orthonormal basis for H and Pg denotes the orthogonal projection
onto F. Deduce that a compact operator is the operator norm limit of finite rank operators.

(c) Suppose that S : H — H has finite rank and A € C\ {0} is not an eigenvalue of

S. Prove that S — A is surjective. [You may wish to consider the action of S(S — A\I) on
ker(S)=.]

(d) Suppose T : H — H is compact and A € C\ {0} is not an eigenvalue of T'. Prove
that the image of T'— A is dense in H.

Prove also that T'— AI is bounded below, i.e. prove also that there exists a constant
¢ > 0 such that ||(T"— A )z|| > ¢||z|| for all z € H. Deduce that T'— I is surjective.

Paper 4, Section 11

221 Linear Analysis
(a) For K a compact Hausdorff space, what does it mean to say that a set S C C'(K)
is equicontinuous. State and prove the Arzela—Ascoli theorem.

(b) Suppose K is a compact Hausdorff space for which C'(K) is a countable union
of equicontinuous sets. Prove that K is finite.

(c) Let F': R™ — R™ be a bounded, continuous function and let zy € R™. Consider
the problem of finding a differentiable function z : [0, 1] — R™ with

z(0) = xo and 7' (t) = F(x(t)) (%)

for all ¢ € [0,1]. For each k = 1,2,3,..., let x; : [0,1] — R™ be defined by setting
xk(0) = 29 and

n) =0+ | ' Flun(s)) ds

Yi(t) = <‘;>

for t € (1,21 and j € {0,1,...,k — 1}.

for ¢ € [0, 1], where

i) Verify that xy is well-defined and continuous on [0, 1] for each k.

(i
(ii) Prove that there exists a differentiable function z : [0,1] — R™ solving (x) for
te0,1].

Part II, 2020 List of Questions [TURN OVER]
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Paper 3, Section II
21H Linear Analysis
(a) Let X be a Banach space and consider the open unit ball B = {x € X : ||z|| < 1}.

Let T : X — X be a bounded operator. Prove that T'(B) D B implies T'(B) D B.

(b) Let P be the vector space of all polynomials in one variable with real coefficients.
Let || - || be any norm on P. Show that (P, || - ||) is not complete.

(c) Let f: C — C be entire, and assume that for every z € C there is n such that
f™(z) = 0 where f™ is the n-th derivative of f. Prove that f is a polynomial.

[You may use that an entire function vanishing on an open subset of C must vanish
everywhere.]

(d) A Banach space X is said to be uniformly convex if for every e € (0,2] there
is § > 0 such that for all z,y € X such that ||z|| = |ly|| = 1 and |z — y|| > €, one has
|(x +vy)/2|| < 1— 4. Prove that ¢? is uniformly convex.

Paper 4, Section 11

22H Linear Analysis
(a) State and prove the Riesz representation theorem for a real Hilbert space H.

[You may use that if H is a real Hilbert space and Y C H is a closed subspace, then
H=Y®Y"t]

(b) Let H be a real Hilbert space and T': H — H a bounded linear operator. Show
that T is invertible if and only if both 7" and 7™ are bounded below. [Recall that an
operator S : H — H is bounded below if there is ¢ > 0 such that ||Sz| > ¢||z| for all
x € H.]

(¢) Consider the complex Hilbert space of two-sided sequences,

X = {(@n)nez:xn €C,Y  |znf* < 00}
nez

with norm |z|| = (32, |za|?)Y/2. Define T : X — X by (Tx), = ®,4+1. Show that T is
unitary and find the point spectrum and the approximate point spectrum of 7.

Part II, 2019 List of Questions
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Paper 2, Section II
22H Linear Analysis

(a) State the real version of the Stone—Weierstrass theorem and state the Urysohn—
Tietze extension theorem.

(b) In this part, you may assume that there is a sequence of polynomials P; such
that sup,ep 1) |7 (®) — va| — 0 as i — oo.

Let f : [0,1] — R be a continuous piecewise linear function which is linear on
[0,1/2] and on [1/2,1]. Using the polynomials P; mentioned above (but not assuming any
form of the Stone-Weierstrass theorem), prove that there are polynomials @; such that
SUPze[0,1) |Qi(z) — f(z)] = 0 as i — oo,

(d) Which of the following families of functions are relatively compact in C|0, 1]
with the supremum norm? Justify your answer.

{0 sin(mnax) ‘neN}
fg = {SC —> 78111(?7;:6) n e N}
n

F3 = {x — sin(mnz) : n € N}

[In this question N denotes the set of positive integers.]

Paper 1, Section 11
22H Linear Analysis
Let F' be the space of real-valued sequences with only finitely many nonzero terms.

(a) For any p € [1,00), show that F' is dense in /7. Is F' dense in ¢>°7 Justify your
answer.

(b) Let p € [1,00), and let T': F — F be an operator that is bounded in the
|| - l,-norm, i.e., there exists a C' such that ||Tz||, < C|z||, for all z € F. Show that there
is a unique bounded operator T : ¥ — (P satisfying T'|p = T, and that ||T'||, < C.

(c) For each p € [1,00] and for each ¢ = 1,...,5 determine if there is a bounded
operator from ¢ to ¥ (in the || - ||, norm) whose restriction to F' is given by Tj:
x
(Tlx)n = NTnp, (TZCC)n = n(xn - anrl)u (TSx)n = ;n’
1 Z?:l Zj

(T4x>n = W’ (T5x)n = on

(d) Let X be a normed vector space such that the closed unit ball B;(0) is compact.
Prove that X is finite dimensional.

Part II, 2019 List of Questions [TURN OVER
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Paper 3, Section II
21F Linear Analysis

(a) Let X be a normed vector space and let Y be a Banach space. Show that the
space of bounded linear operators B(X,Y) is a Banach space.

(b) Let X and Y be Banach spaces, and let D C X be a dense linear subspace.
Prove that a bounded linear map T : D — Y can be extended uniquely to a bounded
linear map T : X — Y with the same operator norm. Is the claim also true if one of X
and Y is not complete?

(c) Let X be a normed vector space. Let (z,,) be a sequence in X such that

[o@)
D olf@n) <00 VfeX*
n=1

Prove that there is a constant C such that

dolf@)l<ClIfl vfe X
n=1

Paper 1, Section 11
22F Linear Analysis
Let K be a compact Hausdorfl space.

(a) State the Arzela—Ascoli theorem, and state both the real and complex versions
of the Stone-Weierstral theorem. Give an example of a compact space K and a bounded
set of functions in C'(K) that is not relatively compact.

(b) Let f : R™ — R be continuous. Show that there exists a sequence of polynomials
(pi) in n variables such that

B C R" compact = p;|p — f|p uniformly.

Characterize the set of continuous functions f : R”™ — R for which there exists a sequence
of polynomials (p;) such that p; — f uniformly on R".

(c) Prove that if C(K) is equicontinuous then K is finite. Does this implication
remain true if we drop the requirement that K be compact? Justify your answer.

Part II, 2018 List of Questions
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Paper 2, Section II
22F Linear Analysis

Let X,Y be Banach spaces and let B(X,Y) denote the space of bounded linear
operators T : X — Y.

(a) Define what it means for a bounded linear operator 7': X — Y to be compact.
Let T; : X — Y be linear operators with finite rank, i.e., T;(X) is finite-dimensional.
Assume that the sequence T; converges to T in B(X,Y’). Show that T is compact.

(b) Let T': X — Y be compact. Show that the dual map 7" : Y* — X™* is compact.
[Hint: You may use the Arzela—Ascoli theorem.]

(c) Let X be a Hilbert space and let T': X — X be a compact operator. Let ();) be
an infinite sequence of eigenvalues of T" with eigenvectors x;. Assume that the eigenvectors
are orthogonal to each other. Show that A\; — 0.

Paper 4, Section 11
22F Linear Analysis

(a) Let X be a separable normed space. For any sequence (f,)neny C X* with
|| fnll < 1 for all n, show that there is f € X* and a subsequence A C N such that
fu(z) — f(x) for all x € X as n € A, n — oo. [You may use without proof the fact that
X* is complete and that any bounded linear map f : D — R, where D C X is a dense
linear subspace, can be extended uniquely to an element f € X*]

(b) Let H be a Hilbert space and U : H — H a unitary map. Let
I={zeH:Uzx =z}, W={Ux—z:2¢€ H}.

Prove that I and W are orthogonal, H = I @ W, and that for every x € H,

n—1

.1 i
HILI&EZ;Ux—Px,
1=

where P is the orthogonal projection onto the closed subspace I.

(c) Let T : C(S') — C(S') be a linear map, where S* = {¢ € C: § € R} is the
unit circle, induced by a homeomorphism 7 : S* — S by (T'f)e? = f(7(e')). Prove that
there exists p € C(S1)* with u(1g1) = 1 such that u(7Tf) = u(f) for all f € C(S'). (Here
1g1 denotes the function on S! which returns 1 identically.) If 7" is not the identity map,
does it follow that p as above is necessarily unique? Justify your answer.

Part II, 2018 List of Questions [TURN OVER
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Paper 3, Section II
19F Linear Analysis

Let K be a non-empty compact Hausdorff space and let C'(K) be the space of
real-valued continuous functions on K.

(i) State the real version of the Stone-Weierstrass theorem.

(ii) Let A be a closed subalgebra of C(K). Prove that f € A and g € A implies that
m € A where the function m : K — R is defined by m(z) = max{f(z),g(z)}. [You
may use without proof that f € A implies |f| € A.]

(iii) Prove that K is normal and state Urysohn’s Lemma.

(iv) For any x € K, define §, € C(K)* by d,(f) = f(x) for f € C(K). Justifying your
answer carefully, find
inf |6, — o,].
Ty

Paper 2, Section 11
20F Linear Analysis

(a) Let X be a normed vector space and Y C X a closed subspace with Y # X. Show
that Y is nowhere dense in X.
(b) State any version of the Baire Category theorem.

(c) Let X be an infinite-dimensional Banach space. Show that X cannot have a
countable algebraic basis, i.e. there is no countable subset (zj)reny C X such that
every € X can be written as a finite linear combination of elements of (xy).

Part II, 2017 List of Questions
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Paper 1, Section II

21F

(a)

Linear Analysis
Let X be a normed vector space over the real numbers.

Define the dual space X* of X and prove that X* is a Banach space. [You may use
without proof that X* is a vector space.]

The Hahn—Banach theorem states the following. Let X be a real vector space, and
let p: X — R be sublinear, i.e., p(z + y) < p(z) + p(y) and p(Az) = Ap(x) for all
z,y € X and all A > 0. Let Y C X be a linear subspace, and let g : ¥ — R be
linear and satisfy g(y) < p(y) for all y € Y. Then there exists a linear functional
f:X — Rsuch that f(z) < p(z) for all x € X and fly = g.

Using the Hahn—Banach theorem, prove that for any non-zero zy € X there exists
f € X* such that f(zg) = ||xo|| and || f]| = 1.

Show that X can be embedded isometrically into a Banach space, i.e. find a Banach
space Y and a linear map ® : X — Y with ||®(z)| = ||z| for all x € X.

Paper 4, Section 11

21F

Linear Analysis
Let H be a complex Hilbert space with inner product (-,-) and let T': H — H be a

bounded linear map.

(i)

(i)

(iii)

Define the spectrum o(T'), the point spectrum op,(T'), the continuous spectrum o.(T),
and the residual spectrum o, (T).

Show that 7T is self-adjoint and that o(7*T) C [0, 00). Show that if T is compact
then so is T*T'.

Assume that T is compact. Prove that T has a singular value decomposition: for
N < oo or N = oo, there exist orthonormal systems (v;)Y., C H and (v;)Y, C H
and (\)X, C [0,00) such that, for any = € H,

N
Tx = Z Ai(ui, x)v;.
i=1

[You may use the spectral theorem for compact self-adjoint linear operators.]

Part II, 2017 List of Questions [TURN OVER
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Paper 3, Section II
191 Linear Analysis

(a) Define Banach spaces and FEuclidean spaces over R. [You may assume the
definitions of vector spaces and inner products.]

(b) Let X be the space of sequences of real numbers with finitely many non-zero

entries. Does there exist a norm | - || on X such that (X,|| -||) is a Banach space? Does
there exist a norm such that (X, || -||) is Euclidean? Justify your answers.
(c) Let (X, || -]|) be a normed vector space over R satisfying the parallelogram law

lz +yl1? + llz = ylI* = 2l|= ]| + 2lly]”

for all z,y € X. Show that (z,y) = (||l +y|/*— ||z — y[|?) is an inner product on X. [You
may use without proof the fact that the vector space operations + and - are continuous
with respect to ||-||. To verify the identity (a+0b,c) = (a,c)+ (b, c), you may find it helpful
to consider the parallelogram law for the pairs (a+c,b), (b+¢,a), (a—c,b) and (b—c,a).]

(d) Let (X,]|| - ||x) be an incomplete normed vector space over R which is not a
Euclidean space, and let (X*, ||| x+) be its dual space with the dual norm. Is (X*, || ||x~*)
a Banach space? Is it a Euclidean space? Justify your answers.

Paper 2, Section II
20I Linear Analysis

(a) Let K be a topological space and let Cr(K') denote the normed vector space of
bounded continuous real-valued functions on K with the norm || f{|¢y (k) = supeg | f(2)]-
Define the terms uniformly bounded, equicontinuous and relatively compact as applied to

subsets S C Cr(K).

(b) The Arzela—Ascoli theorem [which you need not prove] states in particular
that if K is compact and S C Cgr(K) is uniformly bounded and equicontinuous, then
S is relatively compact. Show by examples that each of the compactness of K, uniform
boundedness of S, and equicontinuity of S are necessary conditions for this conclusion.

(c) Let L be a topological space. Assume that there exists a sequence of compact
subsets K, of L such that K1 C Ko C K3 C --- C L and J,, K,, = L. Suppose
S C Cg(L) is uniformly bounded and equicontinuous and moreover satisfies the condition
that, for every e > 0, there exists n € N such that |f(z)| < € for every z € L\ K,, and for
every f € S. Show that S is relatively compact.

Part II, 2016 List of Questions
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Paper 1, Section II
211 Linear Analysis
(a) State the closed graph theorem.

(b) Prove the closed graph theorem assuming the inverse mapping theorem.

(c) Let X, Y, Z be Banach spaces and T': X — Y, S : Y — Z be linear maps.
Suppose that S o T is bounded and S is both bounded and injective. Show that T is
bounded.

Paper 4, Section II
211 Linear Analysis
Let H be a complex Hilbert space.

(a) Let T : H — H be a bounded linear map. Show that the spectrum of T is a
subset of {A € C: [\ < [|T||gm }-

(b) Let T": H — H be a bounded self-adjoint linear map. For \,u € C, let
Ex:={x € H:Tx =M} and E, :={x € H:Tx = px}. If X # p, show that Ey L E,.

(c) Let T': H — H be a compact self-adjoint linear map. For A\ # 0, show that
Ey :={x € H : Tx = Az} is finite-dimensional.

(d) Let Hy C H be a closed, proper, non-trivial subspace. Let P be the orthogonal
projection to Hj.

(i) Prove that P is self-adjoint.
(ii) Determine the spectrum o(P) and the point spectrum o, (P) of P.

(iii) Find a necessary and sufficient condition on H; for P to be compact.
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Paper 3, Section II
18G Linear Analysis

State and prove the Baire Category Theorem. [Choose any version you like.]

An isometry from a metric space (M, d) to another metric space (IV, e) is a function
@: M — N such that e(p(z), p(y)) = d(x,y) for all z,y € M. Prove that there exists no
isometry from the Euclidean plane 3 to the Banach space cq of sequences converging to 0.
[Hint: Assume p: €3 — cq is an isometry. Forn € N and x € £3 let p,(x) denote the n'
coordinate of p(x). Consider the sets F,, consisting of all pairs (x,y) with ||z]2 = ||yll2 = 1
and o) — $W)lloo = on(e) — on(®)] ]

Show that for each n € N there is a linear isometry £ — cg.

Paper 4, Section II
19G Linear Analysis

Let H be a Hilbert space and T' € B(H). Define what is meant by an adjoint of T
and prove that it exists, it is linear and bounded, and that it is unique. [You may use the
Riesz Representation Theorem without proof.|

What does it mean to say that T is a normal operator? Give an example of a
bounded linear map on #5 that is not normal.

Show that 7" is normal if and only if || Tz| = ||T*x|| for all z € H.

Prove that if T is normal, then o(T") = 0,,(T'), that is, that every element of the
spectrum of 1" is an approximate eigenvalue of T'.
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Paper 2, Section II
19G Linear Analysis

(a) Let T: X — Y be a linear map between normed spaces. What does it mean to say
that T is bounded? Show that T is bounded if and only if 7" is continuous. Define the
operator norm of T and show that the set B(X,Y") of all bounded, linear maps from
X to Y is a normed space in the operator norm.

(b) For each of the following linear maps 7', determine if 7" is bounded. When T is
bounded, compute its operator norm and establish whether T is compact. Justify
your answers. Here || flloc = sup;e(o,y|f(t)] for f € C[0,1] and ||f[| = [|flloc + [[/ll
for f € C0,1].

T+ (CH0 1) [ loe) = (CYO. 1L IM). T(S) = f.
T2 (C0, 1], ) = (C10,1, ), T(F) = -
(i) T: (C'[0,1], |-) = (C10,1], |-lls0): T(F) = /"

1
(iv) T: (C10,1], [|'lec) = R, T'(f) = / f(t)h(t)dt, where h is a given element of
0
C[0,1]. [Hint: Consider first the case that h(z) # 0 for every x € [0,1], and
apply T to a suitable function. In the general case apply T to a suitable sequence
of functions.]

Paper 1, Section II
19G Linear Analysis

(a) Let (en)22; be an orthonormal basis of an inner product space X. Show that for

all x € X there is a unique sequence (a,,)?2; of scalars such that x =Y 2 | apen,.

Assume now that X is a Hilbert space and that (f,)2; is another orthonormal
basis of X. Prove that there is a unique bounded linear map U: X — X such that
U(en) = fn for all n € N. Prove that this map U is unitary.

(b) Let 1 < p < oo with p # 2. Show that no subspace of ¢ is isomorphic to ¢,. [Hint:
Apply the generalized parallelogram law to suitable vectors.]

Part 11, 2015 List of Questions
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Paper 3, Section II
21G Linear Analysis

(i) State carefully the theorems of Stone-Weierstrass and Arzeld—Ascoli (work with
real scalars only).

(ii) Let F denote the family of functions on [0, 1] of the form
flx) = Z ap sin(nzx),
n=1

where the a,, are real and |a,| < 1/n® for all n € N. Prove that any sequence in F has a
subsequence that converges uniformly on [0, 1].

(iii) Let f: [0,1] — R be a continuous function such that f(0) =0 and f’(0) exists.
Show that for each € > 0 there exists a real polynomial p having only odd powers, i.e. of
the form
p(x) = a1z + azx® + - + agm_12¥
such that sup,¢jo 1| f(z) — p(x)| < e. Show that the same holds without the assumption
that f is differentiable at 0.

Paper 1, Section 11
22G Linear Analysis

Let X and Y be normed spaces. What is an isomorphism between X and Y7 Show
that a bounded linear map 7': X — Y is an isomorphism if and only if T is surjective and
there is a constant ¢ > 0 such that ||Tz| > c||z| for all x € X. Show that if there is an
isomorphism 7: X — Y and X is complete, then Y is complete.

Show that two normed spaces of the same finite dimension are isomorphic. [You may
assume without proof that any two norms on a finite-dimensional space are equivalent.]
Briefly explain why this implies that every finite-dimensional space is complete, and every
closed and bounded subset of a finite-dimensional space is compact.

Let Z and F be subspaces of a normed space X with Z N F = {0}. Assume that Z
is closed in X and F' is finite-dimensional. Prove that Z + F' is closed in X. [Hint: First
show that the function x — d(z,Z) = inf{||x — 2| : z € Z} restricted to the unit sphere of
F achieves its minimum.]
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Paper 2, Section II
22G Linear Analysis

(a) Let X and Y be Banach spaces, and let T: X — Y be a surjective linear map.
Assume that there is a constant ¢ > 0 such that |Tz| > ¢||z| for all z € X. Show that
T is continuous. [You may use any standard result from general Banach space theory
provided you clearly state it.] Give an example to show that the assumption that X and
Y are complete is necessary.

(b) Let C be a closed subset of a Banach space X such that

(i) x1 + a9 € C for each x1,x9 € C;
(ii) Az € C for each z € C and A > 0;

(iii) for each x € X, there exist x1,z9 € C such that © = 21 — x2.

Prove that, for some M > 0, the unit ball of X is contained in the closure of the set
{1 —2o: 2, €C, || <M (i =1,2)} .

[You may use without proof any version of the Baire Category Theorem.] Deduce that,
for some K > 0, every x € X can be written as ¢ = x1 — xo with z; € C and
il < Kllz|| (i = 1,2).

Paper 4, Section II
22G Linear Analysis

Define the spectrum o(T') and the approzimate point spectrum o, (T') of a bounded
linear operator 7" on a Banach space. Prove that o.p(T) C o(T) and that o(T) is a
closed and bounded subset of C. [You may assume without proof that the set of invertible
operators is open.|

Let T be a hermitian operator on a non-zero Hilbert space. Prove that o(7T') is not
empty.

Let K be a non-empty, compact subset of C. Show that there is a bounded linear
operator T': lo — {9 with o(T) = K. [You may assume without proof that a compact
metric space is separable.]
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Paper 3, Section II
21F Linear Analysis
State the Stone—Weierstrass Theorem for real-valued functions.

State Riesz’s Lemma.

2013

Let K be a compact, Hausdorff space and let A be a subalgebra of C'(K) separating
the points of K and containing the constant functions. Fix two disjoint, non-empty, closed

subsets F and F of K.

(i) If z € E show that there exists g € A such that g(z) =0,0<g<1lon K, and g >0

on F. Explain briefly why there is M € N such that g > % on F.

(ii) Show that there is an open cover Uy, Us, ..., Uy, of E, elements g1, g2, . ..

positive integers My, Mo, ..., M,, such that
0<g-<1 on K, 97“>er on F, gr<ﬁ on U,
for each r=1,2,...,m.

(iii) Using the inequality

1
1—Nt<(1—t)N<m (0<t<1, NeN),

show that for sufficiently large positive integers ny,no, ..., nm,, the element
M
hy =1—(1-g)

of A satisfies

1
0<h, <1 onkK, h <%t onU, h >(3)m onF

for each r=1,2,...,m.
(iv) Show that the element h:hl-hg-----hm—%ofAsatisﬁes
—2<h<ionK, h<-1onE h>%1onF

, 9m of A and

Now let f € C(K) with [|f|| < 1. By considering the sets {z € K : f(z) < —3} and
{x € K: f(z) > 1}, show that there exists h € A such that ||f — h|| < 3. Deduce that A

is dense in C(K).
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Paper 4, Section II
22F Linear Analysis

Let T: X — X be a bounded linear operator on a complex Banach space X. Define
the spectrum o(T') of T. What is an approximate eigenvalue of T? What does it mean to
say that T is compact?

Assume now that 7" is compact. Show that if A is in the boundary of ¢(T") and
A # 0, then X is an eigenvalue of T'. [You may use without proof the result that every A
in the boundary of ¢(7") is an approximate eigenvalue of 7'

Let T: H — H be a compact Hermitian operator on a complex Hilbert space H.
Prove the following:

(a) If A € o(T) and A # 0, then A is an eigenvalue of T
(b) o(T') is countable.

Paper 2, Section II
22F Linear Analysis

Let X be a Banach space. Let T: X — ¢, be a bounded linear operator. Show
that there is a bounded sequence (f,,)72; in X* such that Tx = (f,z)52; for all z € X.

Fix 1 < p < oo. Define the Banach space ¢, and briefly explain why it is separable.
Show that for x € £, there exists f € £} such that ||f|| =1 and f(x) = [[z[|,. [You may
use Holder’s inequality without proof.]

Deduce that £, embeds isometrically into f«.

Paper 1, Section II
22F Linear Analysis

State and prove the Closed Graph Theorem. [You may assume any version of the
Baire Category Theorem provided it is clearly stated. If you use any other result from the
course, then you must prove it.]

Let X be a closed subspace of £, such that X is also a subset of ¢;. Show that
the left-shift L: X — /¢y, given by L(x1,x9,x3,...) = (x2,23,...), is bounded when X is
equipped with the sup-norm.

Part 11, 2013 List of Questions
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Paper 3, Section II
21G Linear Analysis
State the closed graph theorem.

(i) Let X be a Banach space and Y a vector space. Suppose that Y is endowed with
two norms || - || and || - ||2 and that there is a constant ¢ > 0 such that ||y|l2 > c|ly||1 for
all y € Y. Suppose that Y is a Banach space with respect to both norms. Suppose that
T :X — Y is a linear operator, and that it is bounded when Y is endowed with the || - ||1
norm. Show that it is also bounded when Y is endowed with the || - |2 norm.

(ii) Suppose that X is a normed space and that (x,)22; C X is a sequence with
Yoo | f(xn)| < oo for all f in the dual space X*. Show that there is an M such that

S 1f@a)l < MIIf)
n=1

for all f € X™.

(iii) Suppose that X is the space of bounded continuous functions f : R — R with
the sup norm, and that ¥ C X is the subspace of continuously differentiable functions
with bounded derivative. Let T': Y — X be defined by T'f = f’. Show that the graph of
T is closed, but that T is not bounded.
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Paper 4, Section II
22G Linear Analysis

Let X be a Banach space and suppose that T': X — X is a bounded linear operator.
What is an eigenvalue of T? What is the spectrum o(T') of T?

Let X = C]0,1] be the space of continuous real-valued functions f : [0,1] — R
endowed with the sup norm. Define an operator T : X — X by

/G:Ey y) dy,

Jyle—=1) if y
Clay) = {x(y— 1) if x

where

Prove the following facts about 7"

(i) Tf(0) =Tf(1) = 0 and the second derivative (T f)"(z) is equal to f(z) for x € (0,1);

(ii) T is compact;

) T
)
(iii) T has infinitely many eigenvalues;
(iv) 0 is not an eigenvalue of T}

)

(v) 0€o(T).

[The Arzela—Ascoli theorem may be assumed without proof.]

Paper 2, Section 11
22G Linear Analysis
What is meant by a normal topological space? State and prove Urysohn’s lemma.

Let X be a normal topological space and let S C X be closed. Show that there
is a continuous function f : X — [0,1] with f71(0) = S if, and only if, S is a countable
intersection of open sets.

[Hint. If S = (2, Uy, then consider Y o> | 27" f,,, where the functions f, : X — [0, 1]
are supplied by an appropriate application of Urysohn’s lemma.]

Part 11, 2012 List of Questions
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Paper 1, Section II
22G Linear Analysis

What is meant by the dual X™* of a normed space X? Show that X* is a Banach
space.

Let X = C'(0,1), the space of functions f : (0,1) — R possessing a bounded,
continuous first derivative. Endow X with the sup norm || f{|ec = sup,¢(o,1) |/ ()] Which
of the following maps T : X — R are elements of X*7 Give brief justifications or
counterexamples as appropriate.

L Tf=f(3);
2. Tf = [|flloos
3. Tf = [y f(x)dz;
4. Tf = f'(3).

Now suppose that X is a (real) Hilbert space. State and prove the Riesz represen-
tation theorem. Describe the natural map X — X™** and show that it is surjective.

[All normed spaces are over R. You may assume that if Y is a closed subspace of a
Hilbert space X then X =Y @Y1

Part II, 2012 List of Questions [TURN OVER



2011

% UNIVERSITY OF
¥ CAMBRIDGE 52

Paper 1, Section II
22G Linear Analysis

State a version of the Stone—Weierstrass Theorem for real-valued functions on a
compact metric space.

Suppose that K : [0,1]> — R is a continuous function. Show that K (z,y) may be
uniformly approximated by functions of the form > | f;(z)g;(y) with fi,g; : [0,1] — R
continuous.

Let X,Y be Banach spaces and suppose that 7' : X — Y is a bounded linear
operator. What does it mean to say that T is finite-rank? What does it mean to say that
T is compact? Give an example of a bounded linear operator from C]0, 1] to itself which
is not compact.

Suppose that (75,)7; is a sequence of finite-rank operators and that 7,, — 7" in the
operator norm. Briefly explain why the T;, are compact. Show that T is compact.

Hence, show that the integral operator T': C|0, 1] — C[0, 1] defined by

1
Tf(x) = /0 F () (. ) dy

is compact.

Paper 2, Section II
22G Linear Analysis

State and prove the Baire Category Theorem. Let f : R — R be a function. For
x € R, define

wy(z) =inf sup |f(y) - f(¥)]-
>0 ly—z|<5
ly' —z|<o
Show that f is continuous at x if and only if w¢(x) = 0.
Show that for any € > 0 the set {x € R : wy(z) < €} is open.

Hence show that the set of points at which f is continuous cannot be precisely the
set Q of rationals.
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Paper 3, Section II
21G Linear Analysis

Let H be a complex Hilbert space with orthonormal basis ()5 _ . Let T: H — H
be a bounded linear operator. What is meant by the spectrum o(7T') of 17

Define T' by setting T'(e,) = ep—1 + ept1 for n € Z. Show that T has a unique
extension to a bounded, self-adjoint linear operator on H. Determine the norm ||7°||.
Exhibit, with proof, an element of o (7).

Show that T" has no eigenvectors. Is T' compact?

[General results from spectral theory may be used without proof. You may also use the
fact that if a sequence (x,) satisfies a linear recurrence Az, = -1 + Tp+1 with A € R,
|A] <2, A # 0, then it has the form z,, = Aa"sin(01n + 602) or =, = (A + nB)a™, where
A, B,aeRand 0 <6 <, |02] < /2]

Paper 4, Section II

22G Linear Analysis
State Urysohn’s Lemma. State and prove the Tietze Extension Theorem.

Let X,Y be two topological spaces. We say that the extension property holds if,
whenever S C X is a closed subset and f : S — Y is a continuous map, there is a
continuous function f: X — Y with f|g = f.

For each of the following three statements, say whether it is true or false. Briefly
justify your answers.
1. If X is a metric space and Y = [—1, 1] then the extension property holds.
2. If X is a compact Hausdorff space and Y = R then the extension property holds.

3. If X is an arbitrary topological space and Y = [—1, 1] then the extension property
holds.
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Paper 1, Section II
22H Linear Analysis

a) State and prove the Banach—Steinhaus Theorem.

[You may use the Baire Category Theorem without proving it.]

b) Let X be a (complex) normed space and S C X. Prove that if {f(z):z € S} is
a bounded set in C for every linear functional f € X™* then there exists K > 0 such that
|z|| < K for all z € S.

[You may use here the following consequence of the Hahn-Banach Theorem without
proving it: for a given z € X, there exists f € X* with |[f]| = 1 and |f(z)| = ||z||]

c¢) Conclude that if two norms ||.||; and ||.||2 on a (complex) vector space V are not
equivalent, there exists a linear functional f : V' — C which is continuous with respect to
one of the two norms, and discontinuous with respect to the other.

Paper 2, Section II
22H Linear Analysis
For a sequence x = (x1,22,...) with ; € C for all j > 1, let

2|00 := sup ||
j=1

and £ = {z = (z1,22,...) 1 x; € C for all j > 1 and ||z]|s < o0}.
a) Prove that /> is a Banach space.

b) Define
co ={x = (x1,29,...) €L : lim T =0}
j—00

and

= {.’E:(.’El,l‘z,...)l.’Ej € Cfor all j € N and ||z|; :Z|mg| <oo}.
=1

Show that cq is a closed subspace of £>°. Show that cfj ~ ¢!.

[Hint: find an isometric isomorphism from (* to cf.]
c) Let
coo = {x = (z1,22,...) € £>° : 2; =0 for all j large enough}.

Is ¢gp a closed subspace of £°°7 If not, what is the closure of cgp?
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Paper 3, Section II
21H Linear Analysis

State and prove the Stone-Weierstrass theorem for real-valued functions.

[You may use without proof the fact that the function s — |s| can be uniformly
approximated by polynomials on [—1,1].]

Paper 4, Section 11
22H Linear Analysis
Let X be a Banach space.

a) What does it mean for a bounded linear map 7' : X — X to be compact?

b) Let B(X) be the Banach space of all bounded linear maps S : X — X. Let
Bo(X) be the subset of B(X) consisting of all compact operators. Show that By(X) is a
closed subspace of B(X). Show that, if S € B(X) and T € By(X), then ST,T'S € By(X).

c) Let

Xzﬁzz{x:(xl,xg,...):xje(c and HxH%IZ’xj‘2<OO},
j=1

and T : X — X be defined by

Tp41
Ta), = —4L
(T2 = 557

Is T compact? What is the spectrum of 77 Explain your answers.
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Paper 1, Section II
22H Linear Analysis
(a) State and prove the Baire category theorem.

(b) Let X be a normed space. Show that every proper linear subspace V' C X has
empty interior.

(c) Let P be the vector space of all real polynomials in one variable. Using the
Baire category theorem and the result from (b), prove that for any norm | - || on P, the
normed space (P, | - ||) is not a Banach space.

Paper 2, Section II
22H Linear Analysis
For 1 < p < oo and a sequence z = (x1,%2,...), where z; € C for all j > 1, let

1/p
lally = (X524 lasl7)

Let 7 = {z = (x1,22,...) :2; € C for all j > 1 and ||z||, < oo}.

(a) Let p,g > 1 with 1/p+1/qg=1, z = (z1,22,...) € ? and y = (y1,y2,...) € 4. Prove
Hoélder’s inequality:

o0
> lzsllysl < llzlpllylly -
j=1

(b) Use Holder’s inequality to prove the triangle inequality (known, in this case, as the
Minkowski inequality):

lz +yllp < llzllp + lyllp for every xz,y € /% and every 1 < p < oo.

(c) Let 2 < p < 0o and let K be a closed, convex subset of ¢P. Let z € ¥ with x ¢ K.
Prove that there exists y € K such that

—yl = inf |z — 2.
lz = yll = inf [l — 2|

[You may use without proof the fact that for every 2 < p < oo and for every z,y € (P,

lz +ylI5 + llz =yl < 27 (|5 + llyllF) -]
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Paper 3, Section II
21H Linear Analysis

(a) State the Arzela—Ascoli theorem, explaining the meaning of all concepts involved.
(b) Prove the Arzela—Ascoli theorem.

(c) Let K be a compact topological space. Let (fy,)nen be a sequence in the Banach
space C(K) of real-valued continuous functions over K equipped with the supremum
norm || - ||. Assume that for every x € K, the sequence f,(z) is monotone increasing and
that f,(x) — f(z) for some f € C(K). Show that || f, — f|| = 0 as n — oo.

Paper 4, Section II
22H Linear Analysis
Let X be a Banach space and let T': X — X be a bounded linear map.

(a) Define the spectrum o(T'), the resolvent set p(T') and the point spectrum op(T') of T'.
(b) What does it mean for T to be a compact operator?

(c) Show that if T is a compact operator on X and a > 0, then 7" has at most finitely
many linearly independent eigenvectors with eigenvalues having modulus larger than a.

[You may use without proof the fact that for any finite dimensional proper subspace Y of
a Banach space Z, there exists € Z with [|z|| = 1 and dist(z,Y) = inf ey ||z — y|| = 1.]

(d) For a sequence (\,)n>1 of complex numbers, let T : £2 — (2 be defined by

T($1,$2, .. ) = ()\1$1, )\Q.rg, N )

Give necessary and sufficient conditions on the sequence (\y,)n>1 for T' to be compact, and
prove your assertion.
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1/11/22F  Linear Analysis

Suppose p and ¢ are real numbers with p~! +¢~! =1 and p, ¢ > 1. Show, quoting
any results on convexity that you need, that

S

al/rpt/a <&y ?

=
IS}

for all real positive a and b.

Define the space [P and show that it is a complete normed vector space.

2/11/22F  Linear Analysis
State and prove the principle of uniform boundedness.
[You may assume the Baire category theorem.]

Suppose that X, Y and Z are Banach spaces. Suppose that

F:XxY—>Z

is linear and continuous in each variable separately, that is to say that, if y is fixed,
Flhby): X = Z

is a continuous linear map and, if z is fixed,
F(z,):Y = Z

is a continuous linear map. Show that there exists an M such that

1F(z,y)llz < Mllz|xlylly

for all x € X, y € Y. Deduce that F is continuous.

Suppose X, Y, Z and W are Banach spaces. Suppose that
G: XxYxW—>Z

is linear and continuous in each variable separately. Does it follow that G is continuous?
Give reasons.

Suppose that X, Y and Z are Banach spaces. Suppose that
H:XxY—>Z

is continuous in each variable separately. Does it follow that H is continuous? Give
reasons.
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3/I1/21F Linear Analysis

State and prove the Stone—Weierstrass theorem for real-valued functions. You may
assume that the function & — |z| can be uniformly approximated by polynomials on any
interval [—k, k].

Suppose that 0 < a < b < 1. Let F be the set of functions which can be uniformly
approximated on [a, b] by polynomials with integer coefficients. By making appropriate
use of the identity

1 o0
2 1-(1-20) ;xl_%

or otherwise, show that 7 = C([a, b]).

Is it true that every continuous function on [0,b] can be uniformly approximated
by polynomials with integer coeflicients?

4/11/22F  Linear Analysis

Let H be a Hilbert space. Show that if V' is a closed subspace of H then any f € H
can be written as f =v+w withv € V and w L V.

Suppose U : H — H is unitary (that is to say UU* = U*U = I). Let
n—1
1
- Z Uk s
™ =0

and consider
X={9-Ug:9g€H}

i) Show that U is an isometry and ||A,| <1

ii) Show that X is a subspace of H and A, f — 0 as n — oo whenever f € X.

(
(
(iii) Let V be the closure of X. Show that A,v — 0 as n — oo whenever v € V.
(iv) Show that, if w L X, then Uw = w. Deduce that, if w L V', then Uw = w.
(

v) If f € H show that there is a w € H such that A, f — w as n — cc.
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1/11/22G  Linear Analysis

Let X be a normed vector space over R. Define the dual space X* and show directly
that X* is a Banach space. Show that the map ¢ : X — X** defined by ¢(x)v = v(x),
for all z € X, v € X*, is a linear map. Using the Hahn—-Banach theorem, show that ¢ is
injective and |¢(z)| = |z|.

Give an example of a Banach space X for which ¢ is not surjective. Justify your
answer.

2/11/22G  Linear Analysis

Let X be a Banach space, Y a normed vector space, and T : X — Y a bounded
linear map. Assume that T(X) is of second category in Y. Show that T is surjective and
T(U) is open whenever U is open. Show that, if T is also injective, then T~! exists and is
bounded.

Give an example of a continuous map f : R — R such that f(R) is of second
category in R but f is not surjective. Give an example of a continuous surjective map
f : R — R which does not take open sets to open sets.

3/11/21G  Linear Analysis

State and prove the Arzela—Ascoli theorem.

Let N be a positive integer. Consider the subset Sy C C([0,1]) consisting of all
thrice differentiable solutions to the differential equation

=+ with fOISN,  [fMISN,  IfOI<N,  [f)I<N.

Show that this set is totally bounded as a subset of C([0, 1]).

[It may be helpful to consider interior maxima.

4/11/22G  Linear Analysis

Let X be a Banach space and T : X — X a bounded linear map. Define the
spectrum o(T"), point spectrum o,(T"), resolvent R (), and resolvent set p(T"). Show that
the spectrum is a closed and bounded subset of C. Is the point spectrum always closed?
Justify your answer.

Now suppose H is a Hilbert space, and T : H — H is self-adjoint. Show that the
point spectrum o, (7") is real.
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1/11/22G  Linear Analysis

Let U be a vector space. Define what it means for two norms || - ||; and || - ||2 on
U to be Lipschitz equivalent. Give an example of a vector space and two norms which are
not Lipschitz equivalent.

Show that, if U is finite dimensional, all norms on U are Lipschitz equivalent.
Deduce that a finite dimensional subspace of a normed vector space is closed.

Show that a normed vector space W is finite dimensional if and only if W contains
a non-empty open set with compact closure.

2/11/22G  Linear Analysis

Let X be a metric space. Define what it means for a subset £ C X to be of first or
second category. State and prove a version of the Baire category theorem. For 1 < p < oo,
show that the set £, is of first category in the normed space ¢, when r > p and ¢, is given
its standard norm. What about r = p?

3/11/21G Linear Analysis

Let X _be a complex Banach space. We say a sequence z’ € X converges to € X
weakly if ¢(x*) — ¢(z) for all ¢ € X*. Let T : X — Y be bounded and linear. Show that
if 2° converges to = weakly, then T2 converges to Tz weakly.

Now let X = 5. Show that for a sequence z° € X, i = 1,2,..., with ||z¢|| < 1, there
exists a subsequence z** such that z'* converges weakly to some z € X with ||z|| < 1.

_ Now let Y = /1, and show that y* € Y converges to y € Y weakly if and only if
y* — y in the usual sense.

Define what it means for a linear operator T': X — Y to be compact, and deduce
from the above that any bounded linear T : £5 — £; is compact.

4/11/22G  Linear Analysis

Let H be a complex Hilbert space. Define what it means for a linear operator
T : H — H to be self-adjoint. State a version of the spectral theorem for compact self-
adjoint operators on a Hilbert space. Give an example of a Hilbert space H and a compact
self-adjoint operator on H with infinite dimensional range. Define the notions spectrum,
point spectrum, and resolvent set, and describe these in the case of the operator you wrote
down. Justify your answers.
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1/11/22F  Linear Analysis

Let K be a compact Hausdorff space, and let C'(K) denote the Banach space of
continuous, complex-valued functions on K, with the supremum norm. Define what it
means for a set S C C(K) to be totally bounded, uniformly bounded, and equicontinuous.

Show that S is totally bounded if and only if it is both uniformly bounded and
equicontinuous.

Give, with justification, an example of a Banach space X and a subset S C X such
that S is bounded but not totally bounded.

2/11/22F Linear Analysis

Let X and Y be Banach spaces. Define what it means for a linear operator
T : X — Y to be compact. For a linear operator T' : X — X, define the spectrum,
point spectrum, and resolvent set of T'.

Now let H be a complex Hilbert space. Define what it means for a linear operator
T : H — H to be self-adjoint. Suppose ey, es, ... is an orthonormal basis for H. Define a
linear operator T': H — H by setting Te; = %ei. Is T compact? Is T self-adjoint? Justify
your answers. Describe, with proof, the spectrum, point spectrum, and resolvent set of T'.

3/II/21F Linear Analysis

Let X be a normed vector space. Define the dual X* of X. Define the normed
vector spaces [* = [*(C) for all 1 < s < oo. [You are not required to prove that the norms
you have given are indeed norms.]

Now let 1 < p,q < oo be such that p~! + ¢~ = 1. Show that (19)* is isometrically
isomorphic to [P as a normed vector space. [You may assume any standard inequalities.]

Show by a similar argument that (I')* is isomorphic to [*°. Does your argument
also show that (I°°)* is isomorphic to I*? If not, where does it fail?
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4/11/22F Linear Analysis

Let X and Y be normed vector spaces. Show that a linear map T : X — Y is
continuous if and only if it is bounded.

Now let X, Y, Z be Banach spaces. We say that a map F': X XY — Z is bilinear
if
F(ax + By, z) = aF(x,z) + BF(y, z), for all scalars a, f and z,y € X,z €Y
F(z,ay + Bz) = aF(x,y) + BF(z, z), for all scalars o, 5 and z € X,y,z €Y .

Suppose that F is bilinear and is continuous in each variable separately. Show that there
exists a constant M > 0 such that

1F (2, )| < MlJ]] []yl]

forallz e X, yeY.
[Hint: For each fized x € X, consider the map y — F(z,y) from'Y to Z.]
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